BRXE45
IEREFEHR (74U L)
FH2FETA~SM2HFEIARES

N | T FF B I £ 4 XE 4 FER
1 [1REE $465 B/ atREARAKEHLTSE (#0) ARE&IE LK 74.5
2 (1R 5505 teatREMmKEEBRTSE (A)—RE®X 74.7
3 [1REE %535 BARSFE2HREMKEEBIE |(#R)S K 74.3
4 [1RFE %5715 KRR EEIBISE Zayk-H—ER(H) 77.1
5 |1A55 H465 FRERAMIY—FNELISE () #8122 5% 76.5
6 [1AFF %555 HEREX N REFEZEBUHERTE |(#F) BRI 77.3
7 |1AEE $62F BOEAEEERIETE (#%) B ER 78.1
8 1B $F1085 (EEHBEGHBR)EERAKIE ()T ATV 74.8
9 [1AIIEEERI3E AR (AR AERBMERRMERISE (FEEERIE R 75.2
10 [EIEEEE59S (FZ/RIIKEEIBIE HE R () 76.4
11 |EIEEE60S [RIRETHABEIK KRV TRETIE ILTORMER) 75.2
12 |1EREF195 | HEREGERKEWEE IE (%) REH 79.9
13 [1EKREE1235 ([ LRERAMRKEEEIS M 5% i (#R) 77.1
14 [1EREF1265 [AEEOHREBRIR(4)ISE (¥ R 75.6
15 |[1EREF1275 |TEFURKEEEIS (%) ILAERE L AR 76.0
16 [1EREF1345 (M ETHHERKEEBRIS (¥) ILURE 75.6
17 L1 m0e gﬁ@,‘%iﬁﬁﬁim@ﬂﬁﬁﬁ%%ﬁl () TR 184
18 [17&5F 135 @%ﬁ?ﬁfiﬂzgmﬁﬁ%gﬁ (kk) | E32E% 78.6
19 |15 $255 EHREHEATZAREERFIE |KEBET 80.5
20 185 woom  |EURBREEKEREREEO g anmn 820
21 |15 %335 HEEHX T RFHEIE FIEEER (%) 77.1
22 |1EK H445 HREKE (BKBBME) MRIE () KREX 79.1
23 [1EK F415 INRIMERVTEELSE (B) AWM A TH—ER 75.8
24 |1k B572 ;@Eﬂwﬁé}g—;ﬁmo.zﬁpj(%ﬁ ;%?w—@—(*ﬁk) AME | 44,
25 |1k Zes2 ?giﬂ&kﬁﬁ’ﬁﬂ%ﬁ(ﬁay}(%ﬁ@ (H) =i T 6.3




Fezl

F=45

IE/#&

TH2ETA~SH2FIRRERD

FERRB (740U L)

No. I EEE I E 4 x & 4 TES
26 |1k HE81E BRARBRT0hAEKEHRR IS (B) Bi5E%E 76.2
27 [ Tkgoes  [SRACEAE XD MORIR g pemumessn | o1
28 |1{ET/KE32E BRIEMEBAX(ZD2)EREMIRIE |(B) BH4E 82.8
ity 3 BRFLESR(Z02)-RIRET(ZD |(B) KT o=F7) 5
29 |VETAKBSES  oamsmmTs H—ER 83
it 0. HFAWNESX (FD3) - EHAEBT(FD amIn
30 |HET/KEL2E ) B TE (B)—&&% 76.8
3 |HE KBTS | et | (1) AR 76.0
U BHE(Z04) SEARBIE-AFH(Z04) (KR TL-To- -T2
2 |METKESS  |genmrswsnensrs  |poog | 764
33 |1ET/KET6S ERULENXEEMRISE (BA)F5EHRE 79.8
sa |1ETKRETIE %?;mgﬁz(%m*ﬁ“'mm%ﬁ () ) R 740
E I 4, =] -
35 [1{ETF/KE103E jgﬁﬁzé P B (B%) 78.8
36 1{&?7}(%1 10"? 1 )%E?ﬁ%ﬁl$ (;ﬁ)*ﬁqu{ﬁ 77.0
37 [ETokgieg |GEVEARTLRTNALTRET ) g 808
38 |HHETKE1135 Eogg’%}lgz(%GZ)?wk_)w" F) TV =TS0k 77.8
39 [MET/KE114E |MBETEERKRIE (B BIKERTE 77.6
wiiem  |[FHLESRK(Z02)TUh—/LRY _.
40 [HETFKE1158 jg&%zé (BR) 7 RTYY 80.6
41 [2n5EF HE1E SHANNET N Eh R E T E (B)EAH)IA—L/INDR 76.6
hzE Ak n D {Eﬁ1%ﬂiﬁjﬁﬂﬁgilim'%m&§§ﬁﬁ =, 10—
42 ZEnﬁ %3"? %ﬁﬁ(ﬁ’ﬁ%ﬁ%)l% (**)7/"7 I‘ 78.5
43 |28 F45 e 1EESHBEEE (BBRER IR KBCATYY 76.3
44 12E3E F65 IS RS ERE TS HITET (%) 80.6
ipe aro D B RT R REGE T REERTEHR =
45 (283 F95 TS (¥R EBREXE 77.9
46 |2EE HF145 EAFE2HLETRELIS (B)ABEIEIE 77.0
T (R R BCERE Fa i HARATRARE — .
47 12235 215 E&{%(Eﬁ)l% (**)T/\/)-( 74.3
48 |2E3E 297 RKARNMNERERLFERELS (%) B ILE% 78.0
49 [2EFF F33F ERNEREARFERIE YHY T k) 79.0
50 [2ERRFBEFTS HFDH2EHMERKREGEE)IE () I7T74BT 76.3




Fezl

F=45

IEHEAERRR(74RU L)

FI2FTA~FI2FIOARER

No. IE &S I = 4 & 4% FTE R
51 [2EREBEFIS |[EFEEARAFMERAERZREFEISE (ILOXKGE) 74.4
52 |23 #F15 ERthXERERE (FHE) IS (k) REER 77.9
53 [2tek g7 |DECTRARCSTIEAERR mirsomruss ) | 7ss
54 |2{ETKE1S ?éug%iligz(%a)z)vy A=Y\ onoss ) 83.6
55 |2t TF/KEE EE2TETKEEBRHREETSE |(BR)RVIR 75.6
56 |2 TF/KENF KFHET(ZD1)ERMEIE (B)AbLETIHRE 75.2




